ORoco| Ersatzteilliste

Replacement Parts

SNCF BB 4100

43576
43576.1

MUK FRAWKKEI v
§ a3 Art.-Nr. §' g'
1 Mator 85009 | 57
Pt IR B REE R R Moty
4 4 2 | Stromabnehmer 85243 | 29
Pantograph
3 Zylinderkoptschraube M 2 x 4 B5670 2
Cheese headed screw M2 x 4
4 | Zylinderkoptschraube M 2 x 14 85677 | 2
Cheese headed screw M 2 x 14
5 | Selbstsch.-Schraube M2,2x 6,5 85800 | 2
ScrewM22x 6,5
6 Platine komplett 87681 | 40
Printed circuit assembly
7 Lokpfeife 88002 6
Loco whistle
8 Umschaltkontakt B9711 6
Switch contact
9 | Oberleitungsverbinder 89775 3
Overhead cirrent supply connector
10 | Diode 89890 8
Diode
1 Grundrahmen 93112 | 30
Main frame
12 | Gluhlampe 93521 | 10
Light bulb
13 | Blitzschutzgerat 93644 | 2
Lightning protective system
14 | Dachaufsatz 93645 | 6
Push-in part for roof
15 Dachlaufsteg 93646 2
Roof gangway
16 Briicke 93647 2
Bridge
17 | Fenstersatz 100021 | 20
Glazing set
18 Steckzteilesatz fir Gehause 100022 | 14
Push set for body
19 Isolatorsatz 100023 | 18
Insulator set
20 Isoltaorsatz 100024 |12
Insulatorset
21 | Dachleitungssatz 100025 | 14
Roof wire set
22 | Inneneinrichtung mit Kontakt 100034 | 12
Interior layouts with contact
23 Schaltbolzen 100555 6
Switch pin
24 | Gehéuse komplett fiir 43576 100556 | 68
Betr. Nr. 41 33
Body assembly for 43576
Betr. No. 41 33
25 | Geh&use komplett fir 43576.1 100557 | 68
Betr. Nr. 41 34
Body assembly for 43576.1
Betr. No. 41 34
Anderungen vorbahaltan Ausgabe 93/05 Blatt 41311
Bast. Nr. B41022 We rasarve the right to make changes Edition 3305 Page 4131



